=

&

XINGCHEN

RIS IIMHF2 2 51 (D 8~ © 20)

*SMHZ2Z5#Etk, SEA%E/M/3,

W iR

E2(mm) 8 12 16 20

155 PR e WE (R ) 3
& A EAEE(MPa) 0.15~0.7 0.1~0.7 9;
IR R -10C~+60T (1B % % 45) 3
EEHE(Mm) +0.05* £

5 5 A (c.p.m)

EITHE., RITHE: 120; KT 60

ARAZE, TESENNER] e Laidu
N =g, 3 N,
= AT AN Tt
TEaEh, NEEES., B FROFHEFNN) 19 48 90 141
BAEEHFAITERER. B, &3, FF AT (B M) (mm) 8,16,32 | 12,24,48 | 16,32,64 | 20,40,80 20
- EAZEHN, FIEEEEGRHE, BTERBHEW, EXA+0.15m,
W #S "B/ $0.5MPa, 5 &8 520mm .
[ J l ] B EsSkTA%
MHF2 - 12 - D O O meB O
2
W B RS
(em )(@m &)( 3@ ) (7 B ) | (meFxns) -
BRI MIE R MBIV FROINICH) 8:8mm Zig S EITE Foid BT #k 1 FF 3K () E#EER) :
‘EHUFXBESET, MBLKKEES, 12:12mm 1:R1T#E WEFXUSBREAR. 5
% i282-0.5m,L-3m,Z-5m, 16:16mm 2: KT8
#l: MONL £0:20mm BT LA
Foid S 4 6 e & xig 8§24
R0 7 e S:14
B M ERSTE(ZX)
MHF2-8D - 8D1 - 12D o_Equg®S
Ri AR
Q
" R
B =1
BIRC | ’ z | ANVUTENS
\ i g : E = R N4 AN
\ | B & _ —J
5 : e b ke = L _ .
*Eqﬂ} 77777 AL iiiii Q}; — D ,} | (.‘ € 5 65— s 'Q 1
* I I, * A o-YBFAZERIL
| ® ) LT = ES
i L T T
" ‘ " . 2-7
FigF@EQ " EZT s v u
G H I : : E-E
2-ESRSURF B0 0 BT
e = N
ERAN. itk RERRRE R AR BT,
4-M3 x 0.548 5074 a
R AR ]
i
AR REARY & —— = ] |
| & d F
Y ~ | | .g{\ jl | tF=F—=
W 280 I I 2N =
> 31 — ) l,__m_.
e WR& AARBITEFHRERE)
A" T
R
e Af - 2-i
f f
BME A B C D E ' (F G Er S e | S i o (et ia RY s em () v iwl B | Al E 28 (el L S o e ki i 1 i B
MHF2-8D 166 25HO"22% (25 §.25H9* 25| Max05| 7 | 3(28.3(3.4(32|15.8|M3x05|17.0.01(5.9(14| 19(36| 22| 4 [12[ 0.8 61| 11| 11 [62:6| p4.5|14| M2.5x0.453] 6 |10[12] 26| o210 **%° | 2 [p4|M25x0.45] 15
MHF2-8D1 28| 25H9""¢** 25|  25HO ™3 |M3x0.5| 7 | 3[40.3|3.4| 32 |15.8|M3x05|17.0%5,(5.9/14 | 19(48(34 4 [14| 0.8| 16:1| 11| 11 |62.6| 4.526| M2.5x0.45(3( 7 |11| 12|26 | 9 2H9 **5%° | 2 |6 4|M2.5%0.45) 15
VHF2-12D 26| $3H9*"3™ |3 |3Ha"s® [M4x07(10| 4| 42 | 4 |40 20 [M5x08(20.001|7.7[19|25|52(38|5 18] 1 | 1221/ 15 [14.8|$3.4| 955|28 Max0.5 |4|9|14]15]33| 625H9 5> |2.5/¢5| M3x0.5 | 20

094



2R

$5| M3x0.5| 20
5| M3x0.5| 20

16 |7.5| 24| 52| $3H9P™
20| 8 | 24|52| ¢$3H9 G

MHF2-20D 20! | 25 | $5.2| $10 | 40 |M4x0.7
MHF2-20D1 40" | 25 | $5.2| $10 | 68 |M4x0.7

XINGCHEN A S TIMHF2 R 51 (© 8~ © 20)
MHF2-12D1 - 16D - 16D1 - 20D - 20D1 MHF2-8D2:12D2 - 16D2 - 20D2
A %
a ArEELE AA AA AA
5 2-HBLRS
S0 RERRL i
_2 + - [ | I - ] |
e _é_ _--Q—* - Q. | €3 0( p ] , FCe
© 4 | - | : | —+"
| |
2-HB LR B E BB G
E F G RERABY
|
|
|
|
|
|
|
|
|
|
i & Q c¢
R -
K FEAAD 2-HIZLLIRS DD
|._E RIEABY
! aniian '
i ®| e - + 7 e = S———— ==
3 . ﬁ&@ ZI 3 ] ;V - KJ i \\Jﬁ x e f N
N7 Olin. & ! i @ -
d i i ! =——
- T e-vanmemn) |
M |-E- 2-7 i EE v v EE
U V v U ! 2 +0.1
i E-E i HRO ",
mwow.‘ . — i
FEFED 0 #* EAREAALNG, i FERIFF
D HERKBHAARET, |
kil 8-big 4L iRd GG
T i - [
AOBSRERTHE RRAR\ 1/ MERRe ! |
o 1 ’ ] | [:3)
A r | H
1.7 ; | i g > | [ 4
¥ h — ; ) A A A A a
& -~ 3 - = A nam
E=" 29 —F o — 3 m !
Q A P P It : o Y e L $
oL <) @ 1 © MR A REET IR HH 1 il HH
\ 2-im
e f f e *FEMRTERERZD1RIIER.
« FiEMRTE5REZDIRIER.

e A B (o] B [i5] 7 olei| N K L M N O Bl QN TR LS 1 im] LUA RV #E AA BB CC DD EE FFGG HH Il
MHF2-12D1 429 3H9°00%| 3 |p3HI"0925 4| 58 | 4 [Max 07|10 | 40| 20| M5x0.8| 20-01| 7.7 | 19| 25| 68 | 54| 5 |15/ 21| 1 MHF2-8D2 17|64.3 |72 |58|18|32°50| 8 | 5
MHF2-16D 38 | 4H9+0.0%0) 3 |9 4H9-0.039 6|57.5| 5 |M5x0.8| 12| 50| 26 | M5x0.8| 27 5, |10.6 | 24| 33| 72 | 52| 5.5| 20| 25[1.2 MHF2-12D2 26| 94 [104|90 |27|48"|80| 18/4.5
MHF2-16D1 60 (¢ 4H9:0030) 3 ($ 4HO00%0 6|79.5| 5 [M5x0.8| 12| 50| 26 | M5x0.8| p7.5(10.6 | 24| 33| 04 | 74| 5.5| 20| 20| 1.2 MHF2-16D2 36(127.5/142(122 37|64°1106 26 /5.5
MHF2-20D 38 |$ 5H9+0.0%0| 4 |9 5HO«0.030 6| 71 | 6| MBx1 | 15| 62| 33| M5x08| 35 §,| 13 | 30|41| 86 |56 6 |25|31[1.2 MHF2-20D2 42| 159 [174|144| 46|80°1128 30| 8
MHF2-20D1 66 ¢ 5H9:0.090| 4 |9 5H9:0.030 6| 99 | 6| Mx1 | 15| 62| 33| M5x0.8| o5 O | 13 |30|41|114| 84| 6 |25(36(1.2

Be w X ¥ z a b g & 1 g h i J k | m !

MHF2-12D1 24°' | 14.8| ¢3.4 | $55| 44 |M3x0.5| 4 | 12 |4.5| 15 | 33 [$25HI0| 25 | $5| M3x0.5| 20 !
MHF2-16D  1g°' | 20 | $4.3| $7.5|36|M4x0.7| 4|15 | 5 | 20 | 43| ¢3HIC™*| 3 | $5| M3x0.5| 20
MHF2-16D1 32°' | 20 | $4.3| 7.5 58 |M4x0.7| 4|18 (55| 20 | 43 | $3H9G™| 3 | #5| M3x0.5| 20
4 3
4 3

XINGCHEN PNEUMATIC www.xcqd.com
095



	94
	95

